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QUESTION 1

Which of the following thread types is responsible for serializing transactions?
A. DIST

B. DSI

C.RSI

D. SQM

E. SQT

Correct Answer: E

QUESTION 2

Which of the following is TRUE when creating a distinct function-string class that does not inherit from a system-
provided class?

A. You can only create rs_insert, rs_update, and rs_delete function strings.

B. You can create all of the function strings, but you must define them yourself.

C. You cannot create function strings for columns with text or image data.

D. You can only create rs_select and rs_select_with_lock function strings for tables being replicated.

Correct Answer: B

QUESTION 3
Which of the following statements is TRUE about stored procedure replication?
A. Multiple Replication Definitions can be created for a stored procedure.

B. To create a subscription to a stored procedure Replication Definition, only the "create subscription” command can be
used.

C. The name of the replicate stored procedure can be different from the name of the primary stored procedure.

D. In a stored procedure Replication Definition, the "searchable parameters” clause can be specified but does not fulfill
any function.

Correct Answer: C
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QUESTION 4

Which queue is used by Warm Standby?
A. Materialization

B. Dematerlization

C. Inbound

D. Outbound

Correct Answer: C

QUESTION 5

Which of the following behaviors can be implemented via function strings? (Choose 2)
A. Control of the behavior of routes

B. Customization of transaction error outcomes

C. Transformation of delete operations to updates

D. Transformation of insert operations to stored procedure calls

E. Connectivity to non-Sybase replicate dataserver

Correct Answer: CD
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